procedure Kappel Ellipse(a,b)

X = a;

y :=0;

asgr := a”*2;

bsqgr := b*2;

a22 := asqgr + asqgqr;

b22 := bsqr + bsqgr;

xslope := b22 * a;

yslope := 0;

fmid := bsqr * (0.25 - x ) + asqgr;

% HNepLroxn 1

while xslope > yslope do
begin
plot(x,y);
y :'=y + 1;
yslope := yslope + a22;
if fmid >= 0 then
x :=x - 1;
xslope := xslope - b22;
fmid := fmid - xslope;
end {if}
fmid := fmid + yslope + asqr;
end {while}

$ LUVOpO HEPLOXWV
fmid := fmid - (yslope + xslope)/2 + 0.75 *(bsqr - asqr);
% HNepLoxn 2

while x >= 0
plot (x, y);
X :=x - 1;
xslope := xslope - b22;
if £fmid <= 0 then
y : =y + 1;
yslope := yslope + a22;
fmid := fmid + yslope;
end {if}
fmid := fmid - xslope + bsqr;
end {while}



